
* Example image: STANDING BAR 60

GR ILLS
brabura

b r a b u r a g r i l l s . c o m

STANDING BAR MONTAGE
MONTAJE / MONTAGE / MONTAGE / MONTAGGIO

2

3
5

1

Share Life
Share Experiences

ITEM NAME/NOMBRE/NAME/NOM/NOME QTY

1 WOOD TOP 1

2 R-BRACKET 1

3 L-BRACKET 1

4 SCREW M5x12* 4

5 SCREW M6x12 4

6 SCREW M4x10 ROUNDHEAD 1

7 M4 NUT 1

COMPONENTS QUANTITY

SCREW M5x12 2

SCREW M4x10 ROUNDHEAD 2

M4 NUT 2

TOOLS REQUIRED

4

*M5x12 screw are used to mount Standing Bars to modules.

*Los tornillos M5x12 se utilizan para montar las Standing Bars 
en los módulos.

*Die M5x12-Schrauben werden verwendet, um die Standing 
Bars an den Modulen zu montieren.

*Les vis M5x12 sont utilisées pour monter les Standing Bars sur 
les modules.

*Le viti M5x12 vengono utilizzate per montare i montanti di 
Standing Bars sui moduli.

6 7

6 7


